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1. Answer any two questions from the fellowing: §x2 =10
Tl (3-( f5 eves Ted i
{a) What do you mean by capital-intensive and labour-intensive techniques of
production?

TR € WG A(HleT e T8 (@A 2

(b) Discuss the main obstacies in the path of economic development.
AT TR 2R 3 A =7 WETR S |

(¢) What is Multinational Corporation? What are its features?
7eEifos 70 e A 2 i (@R

(d) What are the arguments z2gainst foreign direct investment?

ereps R Rivenem feirs gfeet e @ 9
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2. Answer any one question from the following:
iR @-in o 2re es frme

(a) State the reasons behind rapid population growth in less developed
€conomics.

FCHITS (W0 T TR 2| g Piaetafer 6 &

(b) Discuss the role of agriculture in economic development of the less
developed countries.

HCHIES (T AT SFICR CFLT 1A G s w6411

3. Answer any fwo questions from the following:
felee @-F 76 aver Tex s

(a) What are the objectives of International Monetary Fund (IMF)? Evaluate the
functions of IMF.

FEA|

(b) What are the causes of gender discrimination in developing countries?
Discuss the effects of this discrimination on economic development of these
countries.

TRge (rafens Fmtaas sraef [ & ¢ @ e mee wdtafos Sme «3
IR LI ALETv T |

(c) Distinguish between balanced and unbalanced growth strategies. Discuss the
arguments in favour of unbalanced growth strategy.

T 6 T SRR (FTICTR AN Tziotel 5ot | ST St (FPICeTd »10% &g
SCEAGA] 2 |

(d) Evaluate the role of per capita income as an indicator of economic growth.
What is Human Development Index (HDI) and how it is constructed? What
is the importance of HDI?

GO 2ioifSn 5T R AP SR o F6e | AT IS FIF I
@ fFSITT ©f 957 T T 2 VA oI SFg Ao 6471
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4. Answer any fwo questions from the following:
ferfere -t 7% sivwm Tew fwas

(a) Define simple frequency distribution and grouped frequency distribution.
Give one example for cach type.

e AR R ¢ @fwa ey e a1 @ ¢ et o g
RIGAUEECRETE
(b) Distinguish between:
(i) Primary and secondary data
2 ¢ el =i oy
(ii) Continuous and Discrete variables.
@ RfoRd 575 |
(c¢) Describe in brief different methods of primary data collection.
2R Ao W (e smfowf st 36 s
(d) What is Histogram? Write two uses of Histogram.

SASTETY FIE A f WHSHI-AZ 76 G T T4

5. Answer any one question froin the following:
TS @-co 9ot aveg B s

{a) What is meant by the measures of central tendency of data? Discuss the
advantages and disadvantages of arithmetic mean, median and mode,

?*W%@V‘“ﬂaiarmvfﬁmﬁw%m?ﬁ?@lm% W 8
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(b) Fill in the following table:
frefeRe &b o F%a:
Class | Frequency | Class Boundary Class limit Midpoint | Class | Frequency Relative
=% eyt % Fwa Lk wgRY Width Density Frequency
Lower | Upper | Lower | Upper el e oA
o Al o o & Y sifforRat
20-26
27-33
34-40
40 and
above
6. Answer any two questions from the following:
e @-F 76 e Tea fams
(a) (1) Define Co-efficient of variation.
cowiess e 7

(1)) Compare mean deviation and standard deviation as measures of

dispersion and explain which one is better.

Rfa st o oo Rgfe @ w1 Rgfew womit 336 © it Troer

+HfANoIF OF I FEA |

(ii1) The mode and median of the following frequency distribﬁtion are known

to be 26 and 27 respectively. Find the values of ‘e’ and ‘b’.

e Hfory Reetaw wate® © TgwNa T e o, IAFE Y

aRR9, ‘@ @R ‘D 97 W [{efa T
Values of variable | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
B W
Frequency 3 a 20 12
R
4
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(b) (1) What is Bar Diagram? Construct a bar diagram using the following profit
& loss data of a firm for the period 2010-2015.
e b I T ¢ 93 I fEBIR 2050 (U 205¢ e TR e ¢
o ARy =l e @b @3l SEhoas MY et T

Year 2010 | 2011 | 2012 | 2013 | 2014 | 2015

A&
Profit (Rs.) | 3000 | 5000 | 3500 - - 2000

=TS (BIT)

Loss (Rs.) - - = [ 3000 | 2500 | -

O (BrF)
(i1) Find the standard deviation from the following frequency distribution:

e »fer 4 Retem i e Rygfon wiw fda sws

Salary Upto | Upto | Upto | Upto | Upto | Upto | Upto | Upto
g Rs. 10 | Rs. 20 | Rs. 30 | Rs. 40 | Rs. 50 | Rs. 60 | Rs. 70 | Rs. 80

No. of
workers 8 24 56 95 136 178 192 200

=
A

(c) (1) Discuss the merits and demerits of diagrammatic representation of data.
ETRfoeER ey e Borgeitam ket 8 SpfRutafs 3t T

(i1) Furnish a comparative study of using arithmetic mean, geometric mean
and harmonic mean as measures of statistical average.

ARYW ¢ R (e o5, @reier o5, 8 RIS ex b gemmes
SCEIO] FP |

8+8
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(d) (i) Define Pie Diagram. How it is constructed?
NR-o7 FIC 01 ¢ ANT-o7 T IwfS 36 T

(ii) The production costs of two manufacturers A and B are given below.
Draw two Pie-charts to represent the data:
A @R B v2 fafior Seviva 7 fes oredt wir) s wyefers 1 9w
2-org ez Fwe-

Particulars | Production costs (in ‘000 Rs.)
3t A B
1. Material 20.4 32.8
e
2. Labour 30.6 40.2
3]
3. Expenses 24.5 35.4
iy
4. Others 14.5 35.6
R CHD]
Total 90.0 144.0
i

(2+4)+10



